


N = O &
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Moo BB e2(3) - NSAY - BES O] 4+ o8 e z
512,798 382,411 130,387
OrE MHIA HSB(A2IH) 152,338 144,584 7,754
Mol AfelH 29 152,338 144,584 7,754
OIS A X & (A2l 2) 94,390 94,120 270
301 utEa=z 94,390 94,120 270
05 S-cl-etEes8a3 91,960 91,960 0
Oolz4g 88,560
Jlgs=4 200,000& = 279 = 12& 64,800
-G E= 200,000& = 27Y * 23| 10,800
S EErES
20,0002 * 27F = 23| » 128 12,960
Obt&E¢ 50,000& * 68 3,400
10 dAIAHIEAZ 2,430 2,160 270
O0lE HAXIAS L AHAIZE
90,000& * 27 2,430
HE2E & 2l (AtelH) 31,948 24,142 7,806
101 QI 4H| 8,647 5,375 3,272
10 JI2ZHH22NsSEs 8,647 5,375 3,272
OMYDI=A o2 36,4703 * 147 5,362
O=EZ3ds 2L 4 o2Y
35,3203 * 93¢ 3,285
201 LBHE2HH| 13,989 14,655 A\ 666
01 At=2teldl 2,173 2,160 13
O SAEX 2,000
OXEEAIZ 30
=R 30,000& * 13 30
O&EJI|ItHEH =2 71,500& * 23] 143
02 =229l 11,816 12,495 AB79
OtZMERE S 250
-4 22 75,0003 * 23] 150
-AsxtE 100,000& * 1CH 100
Od =zl 5,000
OEAMHMI - =23 493,000& » 12& 5,916
OXtS XAl 30,000&  1CH 30




A AtelH
M =0 o= MHIA HS(At2IE)
el 2sHe A2l 29 (298
_ _ AT
SA - ZH - GR(3) - MRAY - BAS ko4 Ol & o8 HluSZ
OEgx 620
-AEotE 620,000& = 1CH 620
202 Oddl 6,000 2,000 4,000
01 =2UWdbl 6,000 2,000 4,000
Os - S48 gL = 6,000
206 M=l 1,200 0 1,200
01 M=ZHl 1,200 0 1,200
O=&E3d3% Z22Xd M 1,200
307 elztold 2,112 2,112 0
05 2I2?ES 2,112 2,112 0
ORUBHIAIAH R 176,000& = 128 2,112
SSAE & Fil= 26,000 26,322 N322
201 YEr2dd 26,000 26,322 N322
02 3Z2=23Hl 26,000 26,322 N322
oxizs ¢
1,613,000& * 122 19,356
OXt&s Al 3,544
-A8otE 3,544,000& 104 3,544
Od=RAlH| 1,500
OgYA=I| R4 1,300
O=Xzl2t AlEF A 300
FOUEOSA KAWL (At2IH) 300,000 180,000 120,000
ZE U= KGML(At2IH) 300,000 180,000 120,000
AR FOUSFA(AL2IH) 300,000 180,000 120,000
401 Al&ZHI X R OHHI 300,000 180,000 120,000
01 Al&HI 300,000 180,000 120,000
O1ecHs =2 & XI(200m) 15,000
OZHd ==X (150m) 20,000
O&rd == L& (300m) 30,000
OAlS ot== L ot Z(60m) 15,000
OZ& == IZZ(300m) 30,000
Og8 ==& (250m) 25,000




M AtelH

M =OIHOZA XYL (A2IH)
o9l REAUS KN (A2IH) Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
O&= &2 T AH(200m) 40,000
O LHAEXI(14) 5,000
O&2 QUIAAY dllZ 120,000
HMSHAH|(A2IH) 60,460 57,827 2,633
ol HH| (At2|SH) 9,240 9,600 A 360
S2d| (At2lH) 9,240 9,600 A 360
203 YRFL&Y| 9,240 9,600 A 360
01 JI22HLRFZAHI 6,000 6,000 0
OHERY 2 HoEgs HRFRH| 6,000
02 HIAJAHRF=EH| 540 600 260
O A& A
40,0002 * 158 * 90/100 540
04 ENSIYERF=EHI 2,700 3,000 A 300
OFRNM2IERFE|
250,000& = 12& = 90/100 2,700
Jl2Zdl(AlelH) 51,220 48,227 2,993
JlE2ddl(AlelH) 51,220 48,227 2,993
201 B2y 26,020 23,027 2,993
01 AtR22id] 21,500 17,844 3,656
OJl2+8H| 7,980
OJl23 &l 1,680
Ouerss 840
S22 15,000& = 18 « 12& 180
XAl 10,000& » 582 * 12& 600
-KSAZ2 5,000& * 182 ~ 128 60
O | 50,000& = 2™ = 110 11,000
02 3294l 4,520 5,183 A 663
Odsle= 1,449
ORERS 2,171
O= AKXl 900,000& = 1CH 900
202 O4Hl 25,200 25,200 0
02 EHHHI 25,200 25,200 0
O MAb| 150,000& = 14¥ = 12& 25,200




